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The method of control construction for the control system described by

&= Az + B(t)u + p(t), tel=[to,t1], z(to) = 0, (1)
z(t) = z, (2)
ut)eU, U= {u(~) € Lo(I,R") [ +(t) Sult) <6(t), t€ I}, 3)

is developed. Here A = A(t), B = B(t),u = p(t) are given n x n,n X m,n X 1 matrices, respectively,
with piecewise continuous elements, u = u(t) is control-function, to,?; are fixed time moments, z°, z!
are given vectors.

The problem is to construct the control u(t) € U such that transfers trajectory of system (1) to

the given state z'.

Let W to be the set of all the controls u(-) € La(I, R") such that transfer trajectory of system (1) to
the given state z'. The set W' is determined by theorem 3 in [1]. Then the solution to the formulated
problem is contained in W.

Let us introduce some notations:

8(t) is a fundamental matrix of solutions for the linear homogeneous system 7 = A(t)n,

t1
o(t,7) = 0(t)0~1(r), T(to,t1) = f@(to,t)B(t)(t)B*Q*(to, t)dt,

to

ty
C(t) = B*®*(to, )T (o, t1), a= d(to, t1)a — 20 — / B(to, t)u(t)dt.
to

ty

8t,0) = 0o~ [ 2to,)BOIar(®) + (1 - )3(BNdE].
to
The following result which yields control construction method for the considered problem is ob-
tained:

Theorem 1. Let the matriz T(to,t1) be positively definite. If the following inequalities
(1 - a)[y(®) = 8(t)] < (t, ) <0

hold for some a. € [0,1], then the control u(t) = any(t) + (1 —0u)d(t) + (¢, as), t €T, is the solution
of problem (1)-(3).
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